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I Revisiting the xn»12 that extended v. 1 to apply to nnab etc.
a /s extended by virtue of being in the same 93 as the nnn
i Challenge: we already included offerings which are “accompanied’ (72125 has wood)
ii ~ Answer: we suggested that we read 129 as 3, nnin as V18 — V19 Y3 is limited to V18 (only nnn)
iii  but: nYn PN 727 Y3 HY is a 27 593 > that which has an “escort”- 0¥y anything brought with n»xy is included
1 Proposal: why not read the inclusion as 119, extending to 07, brought with n’>0)
2 Rejection: 07 is brought with 129p (P'nw1 NYIR)
(a) Challenge: perhaps it should be brought with o7 — (hnnw n792)
(b) Rather: nav1 don’t come in same *93 as 07, unlike D>01/NNY
(c¢) But: all n117p are accompanied by noxy
3 Challenge: why not infer (from 9921 V19 Y%3) that only ovnn which are accompanied are included
(a) Thus: limiting extension to P2’1an oY NRan N1 — but nothing else!
(b) Answer: since we required Jnmn Syn to exclude 07 5yn 8% all would've been included
II  Revisiting the exclusion of 707 YYn R Jnmin Yyn
a  Challenge: why not infer 77aR Yyn 89 (excluding n»ar from nnon)
i Answer: D12R are more similar to nnn:
~: 0 nR escort them (wood)
¥ DWR — burnt on fire
2. yyna — only done outside
2 9m — applies
v: nRMY applies
£ 12vn applies
(& 92X — see 19¥ 1”7 'OMN)
ii ~ Challenge: 01 is more similar — it is a 1nn (like pmip) and Yo2 at sunset
1 Block: 7ar:nnin similarities are far more numerous
III Revisiting the exclusion of oy
a  Question: the suggestion would only work according to »a7, who claims that o'xy are called 129p (v. 2)
i And:»aindeed requires non — as well as nwin and, (X217 »1275) even n¥np and (9" »279) — more DI¥Y!
ii ~ Answer: delete 3y from the xn»a
1 Challenge: if so, what is the verse excluding? o7 is already excluded from 717 Ypn 89 nmn Syn
2 Answer: in lieu of D’¥y, read 0’0, per RnN’»»11 — NNV DT, 0501 %Y do not require nYn
(a) Question: who is the author?
(i) Cannot be: 217 — then o>xy shouldn’t be on the list
(if) Cannot be: 1121 — then nmvp shouldn’t be on list (per xn»12 above)
(b) Answer: 2”271 H¥ 111 YRYNW "1 — list follows vIa ("Man) :
(i) RO Yapn (DxY are out);
(if) goes on the fire (D201 0T are out)
(iii) and is brought on outer nam (nMvp is out)
b observation: were it not for the exclusion of 07, we would salt it — but then it wouldn’t be 0T anymore
i support: 07 which is cooked does not consitute a violation (any more) of 07 n%9R; so too with o7 which is salted
1 aside: nmn 17, who quoted »y1 with that ruling, adds that pre-roasted n»1axr do not fulfill nn» n»
ii ~ Answer: we would have had him put a drop of salt, mxn% — therefore Jnmn 5vn excludes o7
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IV Revisiting ruling about cooked o7 (not a violation for eating)
a  Challenge (8375 »28): if he congealed 07 or melted 19N and ate it — 270
b Defense: in that case, he melted it in the sun — it could reconstitute; on the fire, could never be restored
i Challenge: in the case of the sun, why not apply notion of »"nT — once its rejected, is never restored
1 Per: 13y ’7's ruling about frozen nT — once it’s frozen, "nT1 and never considered restored (¥27- no response)
2 Answer (7aN8): perhaps the difference is nYn’a mRoON vs. NPYN¥N NIRLN
ii ~ #27is reminded of ruling — if 1N nroYN D7 is congealed, still valid — can be “placed” (v. 3) =>27n for eating
1 But: w1 nron o1 must be “sprinkled” (nxrn) — invalid if congealed -> 4 if congealed
2 And:®17's own opinion - even eating nn1a nrvn 0T is 27'N; since the same 0T would be 27N “outside”
3 971 therefore, if 0N 07T congealed, still liable for eating it, since the same (texture) would be 2»n outside
V  Tangent re: D7 as a n¥¥n
a  ’7yr o7, whether dry or wet, is yxn (for nb»av)
i Challenge: Rn»91 - blood, ink, honey or milk
1 If:dry —nxsn
2 If- wet—no nwxn
(a) Defense: if the b7 is starting to harden, yxn (even if wet —»y1); if not at all —not pxn (xn>2)
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